I

335C

T

— ]
R
]
_ e
S

pb

sSolgils U

sl Joxo

Ao 7 0 B o0 Mol LSlow 39l ol oEils LS
AR (03) o plot

-

-

NS SRSy
G900 5 Skl o gle Ol
135S el s Sl

‘YQV Jlﬂ)— J"é @ﬁu s\n:i)‘ WL&,IS 5“0)9# S9939 Q,D)T

1Y 5 (55 59lhS 53 (5500 0iigm = (55 1gLaS (cwhigo

uy’;.w b)l.o.o:’ 9 slaxs s‘:#bb.o' J'}o 0,9“

oyl U [ oylows 1 | Jlgww dlass el Slge s,
. ) . e 5 oogee b5 | )
§. ) Y. 83|y
q. £ v Wlild 2ol Jgol | ¥
W q) v. soog | P
Vde "y Y. LS sbslen g 0T | o
A 18) Y. P Gidg s | F

[ WA Jlo olo (oot ]

ol o0 jlme Glus piile 31 oolasw!




1

¥ axio 335C A/NNA audipey gomo o950 el (313

Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of -------——- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony
2- The loud sound of the radiator as it released steam became an increasingly annoying -------—-- .
1) interval 2) perception 3) zenith 4) distraction
3- Jackson’s poor typing skills were a --------—- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility
4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable
5- Because biology is such a ------uu- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual
6- In addition, physicians may have difficulty in deciding that an iliness can be -------—- the job.
Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in their
environment until the --------—-- of senescence, which will cause a decline in the ability of
individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ---------- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------— ; most people resent

intrusive government rules, yet they expect government to prevent businesses from defrauding
or endangering them.

1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) ---------- by traditionally living populations provides an
important perspective on the ongoing debate about how high-protein. low-carbohydrate regimens such
as the Atkins diet compare with (12) ---------- underscore complex carbohydrates and fat restriction. The
fact that both these schemes produce weight loss is not surprising, (13) ---------- both help people shed
pounds through the same basic mechanism: (14) ---------- major sources of calories. When you create
an energy deficit —that is, when you consume fewer calories (15) --------- —your body begins burning
its fat stores and you lose weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE 1

Ecophysiology or environmental physiology is a biological discipline which studies the
adaptation of organism's physiology to environmental conditions. Plant ecophysiology is
concerned largely with two topics: mechanisms (how plants sense and respond to
environmental change) and scaling or integration (how the responses to highly variable
conditions for example, gradients from full sunlight to 95% shade within tree canopies) are
coordinated with one another, and how their collective effect on plant growth and gas exchange
can be understood on this basis. In many cases, animals are able to escape unfavourable and
changing environmental factors such as heat, cold, drought or floods, while plants are unable to
move away and therefore must endure the adverse conditions or perish. Plants are
therefore phenotypically plastic and have an impressive array of genes which aid in adapting to
changing conditions. It is hypothesized that this large number of genes can be partly explained
by plant species' need to adapt to a wider range of conditions. In response to extremes of
temperature plants can produce various proteins that protect them from the damaging effects of
ice formation and falling rates of enzyme catalysis at low temperatures and enzyme
denaturation and increased photorespiration at high temperatures. As temperatures fall
production of antifreeze proteins and dehydrins rise. As temperatures rise production of heat
shock proteins rise. Plants can also adapt their morphology to adapt to longer term temperature
changes. For example to protect against frost cell walls can be made thicker and stronger
(through more lignification) so that water freezes in between cells (in the apoplast) and not in
the cells (in the cytoplasm). Cell membranes are also affected by changes in temperature and
can cause the membrane to lose its fluid properties and become a gel in cold conditions or
become leaky in hot conditions.

16. It is stated in the passage that...................
1. heavy ice damages a plant’s proteins

2. genes aid us to adapt to changing conditions
3. lignification helps plants deal with frost

4. animals are often unable to escape drought

17. We can understand from the passage that...................

1. plants do not need a rise in their dehydrins at high temperatures
2. an organism's physiology is rooted in environmental conditions
3. enzyme denaturation increases photorespiration in most plants
4. temperature changes can quickly affect a plant’s morphology

18. We can gather from the passage that..................

1. cell membranes have fluid properties in the leaky state

2. plants can easily endure the adverse condition of floods
3. antifreeze proteins are not an aspect of plant morphology
4. scaling refers to a plant’s response to the environment
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19. The passage best points to the fact that..................
1. heat shock proteins are produced in the cytoplasm

2. animals are not as phenotypically plastic as plants

3. integration includes all the gradients of full sunlight
4. plant species coordinate the function of their genes

20. The word ‘canopies’ in the passage (underlined) is closest to..................
1. ‘branch’ 2. ‘body”’

3. “floor’ 4. ‘roof”

PASSAGE 2

A root hair, the rhizoid of a vascular plant, is a tubular outgrowth of a trichoblast, a hair-
forming cell on the epidermis of a plant root. As they are lateral extensions of a single cell and
only rarely branched, they are invisible to the naked eye. They are found only in the region of
maturation of the root. Just prior to the root hair cell development, there is a point of
elevated phosphorylase activity. The function of root hairs is to collect water and minerals ions
present in the soil and take this solution up through the roots to the rest of the plant. As root
hair cells do not carry out photosynthesis they do not contain chloroplasts. Root hair cells are
outgrowths at a tip of the plants roots. They are found only in the zone of maturation, and not
the zone of elongation, possibly because any root hairs that arise are gheared off as the root
elongates and moves through the soil. Root hairs form an important surface over which plants
absorb most of their water and nutrients. They are also directly involved in the formation of
root nodules in legume plants. They have a large surface area, this makes absorbing both water
and minerals more efficient than using osmosis. Also, root hair cells secrete acid
(H' from malic acid) which exchanges and helps solubilize the minerals into ionic form,
making the ions easier to take up. Root hair cells can survive for 2 to 3 weeks and then die off.
At the same time new root hair cells are continually being formed at the tip of the root. This
way, the root hair coverage stays the same.

21. The passage mentions that................

1. roots hairs are not elongation zone phenomena
2. ions present in the soil are usually in liquid state
3. the root elongates as it widens through the soil
4. plants absorb their water only from root hairs

22. The passage points to the fact that..................
1. malic acid is released into a plant’s hair cells

2. only a few root hair cells have chloroplasts

3. plants produce nutrients in their root cells

4. we cannot see the rhizoid of a vascular plant

23. It may be understood from the passage that..............

1. zones of maturation and elongation have a parallel existence
2. root hair cells have a much shorter life than the plant itself

3. lateral extensions start to develop at a plant’s maturation stage
4. root hair cells grow along the internal side of the plant’s roots
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24. We can understand from the passage that.................

1. the trichoblast forms hair cells on the epidermis

2. root hair cells can survive for 2 to 3 weeks and then die off
3. phosphorylase is the cell development stage of a plant

4. root nodules can be developed through root hairs

25. The word ‘shear’ in the passage (underlined) is best related to...................
1. “fork’ 2. ‘spoon’

3. ‘scissors’ 4. ‘needle’

PASSAGE 3

Disease epidemics in plants can cause huge losses in yield of crops as well threatening to wipe
out an entire species such as was the case withDutch Elm Disease and could occur
with Sudden Oak Death. An epidemic of potato late blight, caused by Phytophthora infestans,
led to the Great Irish Famine and the loss of many lives. Commonly the elements of an
epidemic are referred to as the “disease triangle™: a susceptible host, pathogen, and conducive
environment. For disease to occur all three of these must be present. The fourth element, used
for an epidemic, is time. As long as all three of these elements are present disease can initiate,
an epidemic will only ensue if all three continue to be present. Any one of the three might be
removed from the equation though. The host might out-grow susceptibility as with high-
temperature adult-plant resistance, the environment changes and is not conducive for the
pathogen to cause disease, or the pathogen is controlled through a fungicide application for
instance. Sometimes a fourth factor of time is added as the time at which a particular infection
occurs, and the length of time conditions remain yiable for that infection, can also play an
important role in epidemics. The age of the plant species can also play a role, as certain species
change in their levels of disease resistance as they mature; a process known as ontogenic
resistance. If all of the criteria are not met, such as a susceptible host and pathogen are present
but the environment is not conducive to the pathogen infecting and causing disease, disease
cannot occur.

26. We may undersand from the passage that................

1. Sudden Oak Death took as many lives as the Great Irish Famine
2. for an epidemics ‘time’ is more important than a susceptible host
3. Phytophthora infestans is destructive to potato crops even today
4. a susceptible host and pathogen are inside the “disease triangle”

27. The passage mentions that...............

1. pathogens are controlled through fungicide application
2. a plant’s resistance decreases with a rise in temperature
3. a plant’s age affects the way it stands against diseases
4. host plants fight pathogens relative to their resistance

28. It is stated in the passage that................

1. diseases won’t happen in plants in the absence of the “disease triangle
2. most plant diseases get rapidly worse in a long-lasting epidemic

3. plant species usually survive diseases through ontogenic resistance

4. healthy environment are not conducive to the creation of pathogens
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29. The word ‘blight’ in the passage (underlined) is not particularly related to............ .
1. ‘fungus’ 2. ‘mildew’
3. ‘mould’ 4. ‘breed’

30. The word ‘viable’ in the passage (underlined) CANNOT (best) be used with the
verb...ceunne

1. ‘sound’ 2. ‘drive’

3. ‘seem’ 4. ‘prove’

00,5 o0 $b! 8> aws 3oy plaS & AMber ails 9u8

UAG (v UGA

AUG (f UAA (v

€010 pU 4z 0gud oS (5550 Jobu (19)0 & 00 el (Si g2, g1 p93909,S s2 U abd oo ojlrl &5 (5 L5l
rosli (¥ Oy ()

S35 (! LS9 (F oy ribs (¥

Sl 390 i3 gl 31 Ky IaS (WIS Cond (I 30 4T 0 aideo bl duaad JolS yob 41 () 3 (D) o390 51
§ !

g oalys LS (aally 5 S g 31 L (O

b e i |, zpally g alols o3l oo (¥

Dy 9l oS g pln 99 (Gually cudgd b ol Bl L (T

g alys Sglitte oS g 9 (Srlly g b oh S (590 alold 4wy (¥

ol y92r wiz g Sl Sluai 4z jome Ll 50 0,10 AABDDA (oigif b pgjges S cuder ¥ oS (Jobw ) Jobo Sy

oS (o0 algi

95 9,4z (¥ 99590 ()

;..i'.m5)L¢(.3(f )LQ-?B)L&-?(V

> LIS oot

g8 T 5ene 50 00l i (glapgiges,S & (¥ gbior MBI T BUT al> o (glaegjges S 4 ()

ol (G390 LT 51 g oitiilog 5 ooy e (F igde Bt igo [2alS glapgjges,S 4 (F

plaxil ualg 5ol (lyS (35 (31%0 30 () ooy Jokeo 1Y 50 digy o0 Somo 43 45 Jolaw B0 3.ty Sy i 40 1) digmy 1095 5l90
fuwl jadizr (o990 (o aliold (bl (pf 328,25 (o0

Ol 50 sl VY (¥ s aly # ()

ais oy YY (F Ol 50 ilo YE (¥

W T iyl Copmozr (il 53 lody 3,5 (ymesi Y0, 80,V 0 31t &) o5 40 88 9 AB g AA (slbiasi 55 Cupror Sy o
el i

a=oNf A =o/Af (¥ a=0o,YY [A=0,8A (\

a=o/FA ‘A=O/\"T (f A:o/f‘\"‘azo/vf s

-

-vy

vy

-¥¥

-Yé

-Ys

-ry



Y axio 335C S

Pl gm0 0390 oS sl =0/F 3 P=08, Q' =0)¥,¥Ypg=0,F,p" =0/F camaz Ky 0

Sl 3 Carex 53 Sy o jla Jolws ()

) 5 slaglold 4 Sy, Stsg g0l piled (Y

Ll 077 0 AL o) YE Ll am S o lacaiigy Sll,3 (F

5 delss 18n B9 Camar o 1, Sty oo Jolat (olai el s S (F

fo9d g0 0310 ansls oyl y15 S BN 31 Sy pIaS @1 b 51 (55 50 93 (s 5

990 181 ples (B ()

9595 ol Gl (B (Y

e o sgem 3,8 Sy g 5N 95 08 S e (BN (Y

ek (gSajged 9,5 S0 g esSaie,me 0,8 Sy ol (BN (F

PSIas g Bl 45 arolx 1,31 S Slaxs 4y 5590 oIS 08 50 L8] 51U (T A) 05 F oS hao 5 590 50
Sl S0 ogub s o 4o o

Yo (f YYo (¢ WY (¥ £F ()

fa] oo Cumosr Solij (pgas 50 S plas

3 g 69,le Jolas sl (s ,.5b Inbreeding ()

)10 (K 8 s sLoinsiois Slolyd 4y any s 131 gl 8 (Y

Bgdien S ping 63,k ol a4y ine, C e L33 el Outbreeding (v

Waisl} (ol 8 & 0,00 (S (oully Jod 55 T 5T, 45 any s o3 i3 (¥

U=y P g culf slani 4z Sea0 Lol 53 3510 AABDD g3 L pgjges S i Sy 4 (Johu SI) Jolw S

93995 (F 999 )k (¥ el gl (¥ Kz 9ok O
£0,10 0929 (§5LN] 09,5 Sluai 4z Cul 979095 Y5 (Gol> 45 uiglyys Jobu S 40
VY (F Y5 (¥ VA (Y ()

Cluml p oo S 4§ 05y Cda 51 S plus
ik - e (¥ O - =S 5y ()
alie pg05,5 i 5G] 05,5 (F G5 jaen - Lg% oo (¥
Tl 4igla Ll i Jol> slop ruigil cui 35 « (@A) 555k § (AD) g0y eigi by K356 095 oLS 90 (5N 3
\ \ \ \ \ \ \ \
—~AAa+—Aaa (¢ —Aaa+—aaa —AAa+—aaa (v —Aaa+-—aaa O
¥ Y Y ¥ Y Y Y Y
b Sl Vb cuoglio A-B- i gij b ool g oo Sy Jikao ()5 99 baawgi @3 50 (00l (5 slows Kt 41 Copmilans
ot 4t G AAbD i gf b HLS 3 wilo (i Cuglic AAB- (uigij b LS lawgio Cwglic A-bb cuigis
FoS Lo 1y 5 9 L Py iyl ool o0 (b (5 5low
ol o138 oy adail) g L T oy adaly (O
el (35 99 O Sl (ki) alally Sl (Y
] g,a5l.i.o 3 Je Lmo')“ ) d.la.g‘) 3 L‘”J‘Q—.ﬂ e\.]a.ﬂ) 1

el 33 a5 bl g pkie 5 G Lo Wy alad, (F

~YA

¥4

—f.

¥

-FY

Al

—¥¥

-fo

—¥5



A doxio 335C S

S!S i i &y il 3 45 g o0 50 XO 3 XXY 01,81 Comuir

aole coole - i ook (F oole (i~ osle (¥ 00le )5 03lo codle (V ke moslo o3 ()

SH 3,0 5515 a5, el ol d plasias ST Jpame oF 992 oUisS 3D 550 JT 31 o2 53 o8 el (092 il
By il 0 (5 s ct pat (53 5SS iy by ol S0 S g0 il L T e T 1, 555 g el
99 (I b1 el Slas ;S oligS b 10 9 5, (g g oligS LIV (5,5 g g i L WY lus sl b WA ol Jol>
Wil on 597 RS2 3| Jiams 088 )

Ny god 97 s (¥ g go )97 e ()

W antezs G (F A e e U el (Y

(Camm (8 e S E999 Al

e 8 by 50 ael aeal b aiel el S 2S00 ()

508 asgal ol 908 4 aal ael SO 908 s (¥

aiel sl o K00 (5995 4 998 S Jood (F

U EPRURS el dl 55908 i (F

ol B30 it e bl 1 i 5 & gl y 99 9 glaciy ST DNA o bbui gl5 g oYL

9t sl 5 wd g Dland (ny (S sleals ()

S59,0mh il 5 0 g Dland (o LY eS sl (V

Y55 glaail 5 aid g Slawd o Sig e slaail (¥

gk sl 5 B g Dland (e S slanils (F

5yl jlm by D000 o3Il &y Sg STl Ky poi G9) 2 9 DL ST PP T JIgF ©yg0 4 T S (LB p ol ST
Cs ablys g dnkad wiz Luwsgie j3b & i 3l g S9d Jos

Yor (f £E (Y do (Y Yo ()

Tagai gy jaan 4 i 1y QLS (3l lgi s gy aiind Cigy 5 (oo (o) iyl 5 LS Jud (!

aals olS L S (Y Sa9sk 95> ()
oo T, Jaw olF g0 W (F Kooes LT ol g0 B (Y

3,13 3959 DNA o5 V' sl jo Jd sb lisLw 31 9 plas

lind 055 (¥ JenS 9,008 095 (¥ il b s (¥ W95 slast O

03,15 4y b bl f 25 oMt 31 Sy plas
Replicon (¢ Transformation (¥ Biosafety (v Transgenic (\

Tl wilgl o0 Liyguo A & Gl.ﬁ cyt daslgy ably s0e 8 ot b S OIS Slusd pawsdy yud (0 W Sy 0 a8 ygu0 40

Ll Lo - il e e (F ol -l ool (Y ol - codle (Y oaiiS — Zolé ()
............... 29 0 40z i (POlysome) ps; b wsi MRNA o5 S

ge o0l8 MRNA aoz i e o (¥ Sedso Mg Helign b (O

035 o0 Zype ik 53 IMRNA gasz 5 (F Sebie ol Gy P 2 (F

Sl iyl ani b (g UL I 515G plas
EST (¢ mRNA (¥ cpDNA v cDNA ¢

-FY

~FA

¥4

—de

-0

-&y

-0y

-oF

-0

-0

-av



% aio 335C S

e 4 i 4y o) 2l Jeolo By o il alals YO MU 155080 315 )10 51,8 pa39es,S Ko g9, b 9@ sl
sl JUl 5590 (M358 ) (9D g (s 5

\RATATA S S TA M SN ¢ A R T S S DA B B4

FIVOVIY o VIvaNIY (f FANIE g FNIT (Y

Wipuslginel (s4ad &S jhino 150l B aicdly Bz Sy slogoy 3L T 9 A slojls slylo ks 2,9 4 DNA 51
(o9 walyd (i p 9 50

7(f oY f YO

b Gl plp ISy g A 250 S Eled)) 31 Jolo i )8 (Sead o pb

) ) Vo )
YY \§ A ¥ ¢
bl 3ol Jaeo!

a6 5 L5 Ay (632 (ol ILE Lo @y gaidy) i3 )1 Cuo j B (125395 (2L g 30 ST (sl ymid (g 5

Sl ploS gatmie @yl bl F1 fud 0 ;0L flgee

Ngd oo i F1 Jus jo iy lalS ()

Sgb and S b o jole leie ay aaly Wiy a5 el g (F

g anlgs oligS gllae olisS glhe oL L cu 2STFL Jui jo (¥

st ol ks Sl 5 S wilys Lawgie g 1Sy e F1 lals (F

Ciges g0 Wlg dud O 81 1 (G 4% (5093903,5 SHSE i1 53 AAA 9} 95k 295 H 5o
q & ¥ )

— (¥ — (¥ — — 0
\itg A A Y

Sl o (S ) (yuiid oily 3590 30 Cybas plaS Sz s anolyr SO 9 Iy drelr Sy

D,05 (K dmal ojlal a4y Sa3y o oudly (O

X o 35 iy e (SCG b ouily 5 dml o (Y

bl e lail poasS SGs Ga auily 3 dmal> o (Y

Ol (K adgl asmalz )5 55 Slgl S 4 dadd (S35 o eudl) (F

Cubly g0 ydy ST SIL gy LI 31 ylee plas

U’.>)Lo| 0595 Job o0 )5 oS oSl ()

ol gyl ayp (3g faS g (Solu (F

b Sl S0 ol glaciys Bl S Jleax! (F

Slae sla fus b opdly Sledlbol a4y i oSt (F

¢ansl pIS 2 Msl o1y i 5 3 i (S 2 pBiasl 5o

oS I gl — lamb wlaglesl = Gul )5 0l ()

$lab oliglejl - ol Qb - S b (v

Sl Slileji— oS T glo— Luls S (Y

b olinlesl— oS T sl — adyl o Fanls Comaz (F

03,5 o 1ol K o5 (SLidd 0 gmmgSs 5300 31 29llao 4255 &y (yamsy U 1y 0y Bolgar (g3l Slasi (yloF g0 9y IS L

. fﬁ b_g)l_, (f 6“’)’.‘:’ 4 Jv S5 Ct;.i 41 L (O
W o0 plil gl plus & (Progeny test) zl Q}o)’i «gloya0 sl gl g 5o
s by 55 3

odly gy )l s Sl (F
oedlly (omdigid (950 (s peSe It (Y
b g gy hlie Bl bty 6 peSojlt (F

-0A

54

—Fe

-1

Al

sy

-5¥

-5

-5¥

-£Y



Y+ dxdio 335C Sl Mol Jawol

fowl yoda pj aluly Jol> (2ol 81— Cadlé alaly 3929 9 s (Silo b bLI,1 50

YFy — (BC, + BCy) = ¢

\ )
oo (F cda Lo do
o=l oyt Gpdey Cilhg bl o) PO plp (S5 olples soly sly g 0 YO L Wiy (Sues (Hio g1y ST
Flawl b0 50 A Cudo

VO (F YA (Y fo (v Fo (A
fowl 498 o) Jos 25 Jgu 5o
AA Aa aa
BB A A o
Bb A A o
bb o] o] [¢]
Sedle 398 (F Codle (¥ 3Ll (¥ =IO
1091 aalgs o )s wizr AQ (o g3 Slglyd 9 (2) (T Slgl 8 AQ 0,5 (559,l 995 i 80 3l any
bo, bo (¥ Y&, b0 (¥ bo , YO (Y Yo, Y0 O

gl Si> g Ll bB pudS 51 LS Laig (pl don 5 Al o0 LY alie oS lj90n sladi g oy o §d
fog1 unlgs wglio (gSaligen adig) o yo wizy uy Juas 5o

o (f YT Yo (Y nao

At s oS 9,8 Sy o sl Y Csmor Bl (S S5 35 %0 8 b AL W 51 Jolo Fy i o
fably oo yuizr oo )5 49 Dglike (gaadai] Slani g cpully

YY4,fodf (f VoY ¥F, FEs (v Vo Y¥,vos (v \F 4 Y05 ()

il g0 o 31 G 9Tl PO (5395l ;50 5130 9 VTS (6595l 395 3 rol> iy 5lais durien yis 5

ot (F &g (¥ S| (¥ &L 83 (O

S99 i 93 9 i Wl oMl g (S (ooadis i Jole camidly g 8 (BT 90 b S 18) 53 o 90 ST
fobls wales

A i\ A (Y O

....... 3 6,a,U

ool (5978 (o> o G0 iSS Elgil 1 pdm 3 ()

Siges €589 4 LeDhgig n gl ) (F

Rgdiee p Sl g a3 oS ez ge (F

B0 ) (et 2S5 0 (F

sl 4l o1y) (LS JolST 53 (5508 ki 5 Jolgs 31 Sy plas

S5 i o (¥ sk O

(Ogelige) (Jore g5 b il (F 195 v Gyl e (¥
fluw! g jolanio ST ouy g 9590 30 wjylis plas

Dy g0 00litul 0308 jokay oy e slaa g g 55 jelaiie S oy ()
Mb@wuLQJ‘)QU)&CJW S Sl s o Sy elbie S8 (Y

ol Ly Code 598 oo \wbbmsow@oaoualbua\JpGe)b |J.ol_>F\ ey (Y
2 2l lageisiy (B p0 eatalS b oan 33 GlollT mazi 15U Gioas 5 353 0 00y _alls oY 9o (B 1 ol FY J»..., )o (f

faas o0 6)59%-0359-:-0MM%F@)M“*)“JPJ'MWMM‘#F

Y ¥ (F Y,Y (¥ Yo (Y Yo ()

Sz gl (U ST sl ool 51 Ban (slo g0 iy 35 5

ool slowigy oi (F S5 oS 5 3 (T Py saaigy sl (¥ 255 5ol O

Togub o0 oolisiwl 23 95190 31 G pluS (5,145 (1 2 (Cryopreservation) sb! s,
il ISy jeu (F oS 9995,1 593 (¥ S5 slacdl (¥ W pins ;o (A

~#A

-$4

_VQ

-¥\

Al

Al

AL

-¥a

-vs

-vy

~-YA

-ya

-A)



W amino 335C bl 2! Jgeo!

Tl Camnyo Jooro oy JuSld 50 p 5 Jolpo wd yi 51 Syplas’
2 b S5 — 2~ g — gt ()

(i daeS S — 2l - gie — gme (V

) — i 4 S5 - 970 — Geme (¥

35 T e~ s S S —lal (F

Wl oo B Cluo 0 o 3F & Fawly e 1591 L

S g9 (F il ol (Y codlé Sl (Y Sy ity O

- =0 J—il e dasS A QT 29380835 ..oou. 9 ol 093509, ... sl @yd olF 5o Sivlez Jb yo 00,5 &l &S
O gw

Y- vP(f Yo—Yo (¥ Yo — Yo (Y \WY-aw

Sk g0 &)1 41 25 4 A1 0105 LogSal908 SMols oL S (550,b 395 H1 53

ol Gy Sal3H (F s el (F gl ol 5 (Y (5l ol (0
Faml 0094 Juio s MBI o Syplas

pass (¥ mr

F\ Jgamo p slooy yud odgi (F 5 g 1Y

Ty B olgi o0 (2ol Bud pluS 4 0939092 p930 590 3 55155 92 (S L

$odghle adg (0

ey gigy zlimel (¥
s ez 4 pieds 92 5l Olawe Jlal (¥

041 IBlgS s g s i T A1 (9S059,58 9 aSligen ol G I Jolo (yalS 3131 55 oud sualiv £ 90
255 = (haeme (F wshaee = o (¥ S5~ (S (F sheme = (S35 ()
Togb o03 g trur€ breed 25 )lee 31 S plas

cielae glaadslla (¥ sloogs bl 51 ol &yl ()

oY ol (F oA slaY (¥

) ] TS o0 38 dods U gudaly Jlai 51 5 0,l90 51 Syplas

El (f S9! (¥ solKom (¥ Sz sk O

1 Sgmrg aili 9 Cowl o, JCTTORNCHTS F-JUUE T BURCIUN JV- IRV PC SURICHTIED TN BT TP (X vt |
R-TPRSPRN (Y (P RS 2 POg

(shio S gl - ule (¥ Cote (Fglai - ule ()

(shie Sy gl - pslia (F Cudo (Gglai - pglie (T

fadly oo Soilo 5 ) ammol (SLodm! 31 Sy plus

Onigate (F Oty (F e (F oY1

§0325 g0 ol 315 S 3T 51 K pIAS Lauwgi (3T (a9t Al 90 Wigey @y T (o adls!

len (¥ S g 000 (¥ Yoy (¥ Sl O

TS g0yt (5T (510l Lo 51 S0 IS gl o 43 3G JLail 31 50

ol olazslo (F Py ozl (T Py olazsLls (¥ Jsl oLzl ()
bl o0 9 o Johuuno oy 4 Sl 1 i 4 TIT 9 IT 3050y RNA oy 5159 50
tRNA _rRNA (f rRNA _mRNA (¢ tRNA _mRNA (v mRNA _tRNA ¢\
bl o0 (559w (GLousd aiwwd 31y Gloudd 51 G plus

5859, (F S5V (Y S 559k O

WS oo Jlad oy s Jelw (olowdl sl jo 1y e, P! S g oy o sLya0) e oy
05909 & el Sl (F s Jkesol (¥ A peed 6 (F JER RIS
Ded g0 Swdly 9 LS (SBp9j g y dawgl (paiT gy Jiw &l ciiiiiiiiiinnnnns Sl (L5

Silodab HeSB oges Jladpd L (Y Sl Jroi e L QY

tRNA Joulginel JsS50 S0 ¥ (slel o Jluail L (F p339025 0 A oSl (3503 g L (¥

10,005 (5595 pog 2l 13 WS 51 G plas
Sl puels” (F Ol S g0 50 (¥ s9kl; ¥ 59T O

-AY

—-AY

-A¥

-AD

Y

-AY

-AA

—A4

-9

-4y

-y

—qy

-af

~44

-8

-qy

-aA

-4



VY axio 335C o

10,05 3929 Cy HaLS 53 315 s Jobus 51 S plas

gl I sl Jghes (F (Suigh <l (¥ il JeBga (F SO Jedgie ()
gl o0 Jio o ficds 4 (F )90 42 4 e pud i (gb 50 (GUdgi ()5 assT (52

OeialSgen ey S (Y Jslxe (2SS 53 (¥ Sl S (7 Set)S sl O
RLYV-JpPIpIT ] e J215 50 oblS ;0 0y ledaw! Cygulaas]

Syl pg; (W51 (Y Sp sl pgy STy O

el 157 (F S g (V

0wl (g )i gnn sLiad 31 s e 41 y3U8 gloolo Az & Joud G yb 51 ol gl 51

Sland el S g 000 g0 (F Slid 1Y g yuedS (F ok (Y bkl (A
V-3 RPN oS ol BLSE Wl 90508 jlw ey Aol o]

OBy 5 (F o1 Joid (F (el (Y i (O

Cadiamd 4 Kol g F Kol F Kol oo b a0 CilS i plas

Satdgl apnl g Setdgid sl (S g ol (F Sefgid sl 9 Stdgl sl (S gid al (0

Seradly sl g SV s (Sgantt )T ol (F Sy 8 Sl 9 Setdgh sl 1S guncth )T ol (¥
5,10 B3 e 5T 31 00,8 plaS liwd 35908 oy 35918 i 4o

Ll a5 (F 2jbige (¥ b 31T (Y FYINEQ

el G )Ob 03 puanndSgind 390 53 Cylas plas

T il e Jub el (1

A S land sl Slizie 1Y

IRULIW S S | 51 VPR QR FURPRUE S PR 6Lm.\.,_...a"k55L> X
Ay oo )8 O Cuadge 53 00 gludl oz slaas] Vgeaa (F
Tt (391 & 90 & St 59992 58 PH 50 ool sl plos

S5l 3 ol ey (F g5 5 9 e oS el O
gy 9 oYl s (o (F Rl 9 Sl (SCaliglS (V

S pammo & yjlue ploS b ulig p 9,90 50

ol e gt azmie 10 39350 slapsl i 2 (0

) gs""l’> JLQOS; Oy Lt @uLo O (P59 NaR g 41

el (299 )308 (Slg yi pgs LSlo (6 oS PO ot Jale (¥

Dgdse egn 00205 U )0 (Soeilgn (53 Sigm Sl azge g (F

.é)‘é )'}5 ................. ) LS)J‘.JW PLE R L prydv’)ls)é 3L;.~MATPM

(gl g0 3lhiinl Ly 9 (Gl (GUS (pluwlids (515 o &1 ol 3l o 49 315 S 3l 51

CuOy -Cu(OH), v UV_CuOy ¢

orpden o - CuOy (f oy o -Cu(OH)y (¢

RV PL W 5 S 3 09 =S jomae pLGD 50 Jlad i (g1)10 (50T g byl (B i (3 ST Ao yd 0 )
010 0uils Wl il Johuw (511 4 D9 o0 ST 1 g U0,

oS oot FADH, (v o959l w NADH (v

095 3l 4 D oy Sy (F 05 (23l @ Sl g (¥

a0 0,130 plas NADPH + HY (o5 5 adgi 5o yanneo

OgrldenSTLG g oo S a2 (¥ ol 43,2 5 Slgllge a3 2 (O

9650 (ygadly y90nd 9 5 oSS (F Slind 9y 9 (gemdly yghand 928 (¥

ST R S b 47 g0 Ty s gmmdly s sibansd 5 (3 gl (puks G

b 931 (F Oty (¥ 095, (F Sl ()

QMA p)fi,f IO ew yo Q)la.‘
il S 5 Jlad isn ST NH 69,5 (8 D1 s sl g gaalannST o ziSTy o (¥

~You

-1\

~YeF

—-yov

)

WY

Y.

-

-y

-1y

-1¥

-1



VW axio 335C (SO gt

Mb‘;c ................. uLbLf 39 @b)uw NADH .\.Jy 4.51‘0| ey @Lﬁ:‘j) 30

O logd 4y DlwnS o b (¥ e 4 S B ()

Shh ¥ g el 4y i (il S o0 5 (F A 3l Jodyisy & A 1S Jeol (7
Sl grazmo & ylas plas

Sl S S 505 09,8 Jlail jo A s plsS (Y ol el g M}J],S P ATP ¢
S0 eS8 A mpleS pleisle o Saiguily al (F Syl CdlBs o gamlinel uil i glo STy o THF (v

g g0 00 S 5 IS W 5L (Jokuw 051903 2559yt (s 5o

ool S5 Lol NLOL(Y = F) sl Sl g0 ool (7 el 3595 Jtal NS BO = F) sl Sl 50 Jool O
s Sdg5518 D00V = F) el 55518 Lt N (S sl g5l DB = F) sl Kol 0 Josl (¥
........................ 2 el 395950 g yuaandS

Dodse Jo el ol 65 St Jo g e 2l OO

WS o J5S S S 5,8 PEP el (v

WS o S 1) 93 B8 S 4 o laassd (gLl (Y

S o J S LS i glp ) 6,08 5iee SIS @ i sl JUil e s (F

C0gon i yS S 3,19 (glakali a4z 51 ol y9il 39 COA figm g

CoA g (f CoA i g (Y COA JuS g (¥ CoA Lol (M
PLS S sl 9 T

LS oo 1,05 ol j 495> Spodoptera exigua

S 31 i (¥ Sl 3l 5,¥ (O

Glise glaol€aly o 0 i (F ilises sloolaly ;0 5,¥ (Y

fadly oo 0olgils plus’ & 3l ANagasta kuehniella .1 glail pooe 0 i

Plutellidae (¢ Pyralidae (v Gelechidae (v Noctuidae (\
Tl 19595 3 (5 Pty Capod] 1 (ol Az )0 LBy 4y aBgb o, Ol

adoy il el 5losm (F Olasls Juad glazd (¥ Ladigs iy glal o (Y 0ad JuSas pls (A
Sl digfa iyd Hlgs adlw pf o8 by 0920

ol Y (F ooy (¥ o (Y JolS 0 ()

00,1 0] 28y yla5 a8l & yLuss plus’ 4 white head Mo

S35 o gy ol i (T (635 0 allgr (ol S (Y 7o p Al ol auh (Y Loadgs ol dudes ()
Fuibly oo g s dowed (31505 Lo j 0g2xd

VoV i ¥ Spgo 0 (¥ ligh 9, &g 4 (¥ 9)¥ 9 o5 Oyge 4 (¥ 0y o y90 4 ()
Coguen &lg 3o i 23 (55 SLaLbe) S S pIS 0313 o sl ABL i

a0 @8ge 4 9 o 5olal (¥ Sl Sz Glaogee ez (O

43)‘30}&.5 6[.@.)95}‘ ‘5‘9[50.)[.&3_»‘(? Loyl g o, b}l};ﬁuﬁfwb) (¥

Sl 0391 30 g o0 plansl ST plus” J 508 jo LolS axddl 31 el

pls S (¥ Ml e oS (Y Lg) Ssgos (¥ oS ated ()

T o0 s 4y (o) o X g g JBU 1) Ol pli 51 Sy plas

Empoasca fabae v Aphis fabae ¢\

Acyrthosiphon pisum (f Phtorimaea operculella (¢

OIS g0 (6 S b obF (595 9 onmit il Ay (3950 1y 395 (S e Al 3o 0§ T Sl 51 S plaS
Heliothis obsoleta (Y Chilo suppressalis (\

Earias insulana (f Caradrina exigua (¢

Scams> Bostrychidae sbcugw o108 35 (0 ypeeo

Phyllophage (f Omnivore (¥ Xylophage (v Mycophage (\
0 gul g0 0D yille 0 gl IS 50 W09y (55950

S S (F S 3590 (¥ Srae Syage (7 e &a O

S g0y g 1) LS w15 T 51 S plas’ glog )Y

S ool e (F o gogb B (7 axigy ada; gagb )y (F axig Sy o9k S e (O

¢! Sl SIARES jl Swgas &1 drnd ST 0105 (550l g

-\

-

-1A

-N4

_\YQ

-m

-yYY

-y

-\Y¥

-\va

-\ys

-y

-YA

-I¥4

—Y.

-

-y

Sy

-IrF



V¥ axio 335C P 6w g BT

Cogui g0 aiidS 3 bl plus’ 4 Bollworm

Earias insulana (v Heliothis armigera ¢\

Pectinophora gossypiella (¢ Pectinophora malvella (¢

UV Vo 3R 55 slow Aoy (bjmo oL kil pus

ol 5l s olE Slexsle Els slap 1ilsa (Y ol 5o ol ez lo gl slap yilSe ()

S5 b olS aleandige £lbo (slap e (F SO 5l oS aleandipn glbs laplSe (Y

o 10 i ) (LS sLois lom SIS )0 oyl junr (190,90

a8 0tk ol gl (F KAVERCR I 4 i bl (¥ digb I8 ()
COgu g0 09D J,,aau ) CblS £ 5150 50 IS a4 (oo jommw 00 (o jew) GTeEning

s 038 o 50 ol 9gueS 51 2L i (Y O 008 g 2E lay 10 98 WS ()

a)‘)«: LY sS.\b).i \.:L?Ul})ls ‘SLQDMY] )‘ ‘5.“:[.; ww (f S )' O JLQOJS S$9y )9) u.uJL) (\ﬂ
foguiso yal £ )l30 53 ddly 51 1095 3 LG kent 31 SplaS WiMe

pdj ol ;i') (f 3> dj‘ﬁl &;) (¥ ‘o.\;f 6‘°9’9r§ S5 (Y ,ox.f 355 ;i:) Q!

Tl Bl Golow pluS J 08 50 jdy Jghens

pasS oligSly Salew (F posS o] Salew (F psS e Salw (Y O3 Jyems Salw ()
Tt Joloo 01920 W3 o5 slap jilfy) 9 ,Seme 31 K plus

Mollicutes (¢ Loz 6 (¥ Lo g pg (¥ IR P ISPICCING

fCal 5 b pluS Jole Leifsonia xyli subsp.xyli s zsu

S S 0,5 py s (¥ S 05l (Sgigs (F 5L easias (0,5 (Y S (S ke ()
Cadilb oo T-plasmid &oU plus g9 (i g 3 ST 30555 05 by

Opine Catabolism (f Replication (v Virulence (v T-DNA ¢
¢! ,el..\f S e u.bT S gm0 u,.o)T > oS O oo

olo (F LS e (F a (¥ e ()

foulily oo S piog il 0 )5 1)1 325 (LS S g 3 Syplas

95 3,5 Slyge (¥ b Sdlge (¥ OFy Slige (¥ SUS o gl ()
i o8 dans 15 Codoo plaS 55 (LS 50 U5 Wge oz U 5 (ALS S slauiles

O%9 s k! U (F o092 oljlen (Y Oog oS (Y 59 636 (O
25 4yl plas’ o Stomatostylet )15 slwils (Deley & Blaxter, 2004) uiki wos Swaib 4
. 3 . e, ?&H’@ )|P?
Dorylaimida (¢ Aphelenchida (v Rhabditida (v Tylenchida ¢
ol 498z Camb 59 eiel Siljge (g g JU!

Sles (F Sy (¥ (Y Sl ()

flig o0 Johw 9,3 aigfar HLS slo gy

SURCPRESFISING

Al 392y (AL Jobo s 13 45 0w 1S Ly (¥

0% 4y 293 Sllgi sl g ooz A3 052y LS Jslow i o 45 laon iy S g (8L Loy (Y
i S oo 3y Jokow

Olamai )3 0391 05, Fails ol pen Ly olowl J586 andss 51 L SlSe ol 4 af Wgd ee Jsbo 3]y olaas; ol 5 Lo (F
N yeS oo ),

Cadil oo pj s wepme 3l Syplas JiU Xiphinema index o;

50 33k Sp mony (¥ 50 S p S eans (O

(b (J)5) wd,00n &g (Sowmm g g (F SLS po Sl 5 oo (F

-7

-y

-\yy

-1YA

-1¥q

~1F.

-1¥y

—\FY

Py

~1FF

¥4

-\¥5

-\fY

-YFA

~1F4

Y.



10 axiuo 335C RS 55algs b

kol Jole & g Al Comd 15 conal (S Lo (5190 55 3585 (3l m0 9 i, 0992 50 Gl (s alaly ouids (LS 95409, JS
" Sire wY Tuaglie o el 5 5 glaie, 5 Ldge Saoglie il Ceand s ()

g

o
=d
T

J

TN RO f A S L

’ . *
501 [ .'0: ” .' '
4 [
H .
»
i i L i ]
) 5 10 15 0

(o0 5 39 S 3 My

fagiion Cp (g5mgtd yamo b LS 500 (515 51 (6 5L i el Jole plas
asijy, 31 S o33 e & T COy jewd, ezl (O

S35 PEP 51 ol s 5 C oS a8 sz, cola (¥

gty Vb (aend Sl g DS S PEP (05105 Lo colils (v

L“’C)] 2SSy 03 COY bale) Ci 9 C\‘ ol o ladijg, yog pay (F
Sl cawys Cyp 5 Cp (LS aunlio 43 5,90 plos

) VT e QIS 5 52eS 59 5 588 Spas 5 Cy lals ()
W 5 yaS y55 Srae IS 5 YL Gk g ol Bpas IS C lals (¥
S 558 B Sran @S 5 VG 5 g T Spae WS Cy plalS (¥
1 6 VL gy Brae SIS 5 eSOl g 55 G ya &b Cy plals (f
)10 aee 4 Johu )3 (LA 42 9 sz (AQUAPOTIN) (951451

el a5 585 0 0aiiS ads JBU (sl ()

el ey il o] i a5 iy sl JULS (Y

el i polie i oyl 25 oS JB slapatig  (F

sl Jobor bagi Ol Sl S gy s o5 oty sl JULS (F

ol (g0 4z 4 59, Al (b 30 Jugiamw 35 5L 9 Cowdly g ol 30 Atwlids oy e ol i
sl Sl 5L Blie (g i go ralS et )3 g Gliat 5y, 58 anlss e O
e Rl b 53 g Al ey (o alis g 55 Gl (Y

oo Rl cad o anlid 5 Ghals 9, 50 5L ol (¥

i Gl oS 58 g kS g, 50 5 5 aalts e (F

foulad oo Carogiume Sl yb 4z 31 (LS ;3 pguigel mos

)'l.;')"”.xﬁ.mom}s];;‘gbé)a_])tbl(\' Q]@L-é}lhgﬁfpjwyfwbwf)s(\
el Hgign cud liel (F Sl eip el jo IS (Y

Fal LS 51 aiwd plaS Sgu 4y Jnme COy cdilé jiol381
)] iwgd (ilisl ede 4 Cyp olals ()

Lol g i Gl 2als e & Cy lalS (¥

Lol (5599 b 5 jmgid Gaalidl e & Cy lals (¢

Yo COyp clile 518 4 o] iy )5l cde 4 Cp lals (F

QJL":O ............... u.o,J pH 9 cereenerirens Lnj).a.uﬂpH e Ay ‘(5)““""'9'“3 U’)’“ﬁ' JL&H‘ 6&#'5 ‘:b L)
UL UUI O RalS 5l (Y a3l e zals (Y Lials _gals ()
‘Sjqu)'}T 3O cevensscnnaes ).d.\.: 9 qu G_i»'.; o‘,-;-ﬁ a N ‘SLQJ)R‘) & QLBL; M"Jm&c M 39 e }d}&

D10 S 3 gid (3 p2 3 1y 5amn
Mg .Mn (¢ Mn . Mg (v Mn . Ca (v Ca .Mn

-1

-\ov

oy

-\of

=100

Vo8

-0V

-10A

-104



15 i 336C bzl guoli ol
Slyd a8ly 39 5 S (Ailojl Iy (olasiar] SN b Wil g0 K0S Lo 4 45 iylo 39 503 (sloiig sl 5l slaims 1V
33100l v 1y 83 SBog2 sl ol A ol ) LSl £.5 ol o
sk ol s (F bl slog ;oS gm (7 Gl 5a; (slaasyl b (Y 2ol 1 ()
Foml plas” o2 5850 oSy s 31 Sl s sy, -1V8
eloiz] (553 5 SVl (v ©)gle 5 Sugdi ()
OO > oo g &l il s, 4 (F Silendbs 9 Gl (¥

00,03 95T e 9000 42 12 505 53 o) 29 5 bt p> b WYY
Ju)l.wd.o ) @)Udmf)ﬁ Shye ol (A
Sl | s ‘SLbo)..Su‘ 5 L(b5.> 3 OJ" daslaasul é’L‘ ul)...b) 41
ez A U cod ez b e oo slaslay, (F
ootz lagh))l i 5 eloial slotin elazal slag o (F
UV PO R @ Jilod slwo 4y olwl & slas VYA
ol logad 4y 05,5 glael oLl ()
S¢> 03; slasl 4 e Foglhe slaslinl (¥
Szs5 sleey S s hio 6la)lis) 55 09,8 5,51 o (F
357 03,5 b amlie 10 K3 glmo 5 (slaael 3y apds (F

09 dBlgs e, adle wdb e Cbluds G 42 12 (69,3 oy adl> ;3 —1VA
S8 o i (F P = e (Y RS (59 = e (V S = feS ()

Fedloly 225 pealho 51y IS g9 b 436 Shals' GUT Sy 30 bl 590 Al S gy b AFF) g o jilhe  —VAe
weloi ojloylul (F elaia Ot (v ebozl 344 (Y <, ()



1392 Jlu 2 ) il IS (4 gyl Y g 208 28 Lika

1of1

1392 Jlw i, csowlivin,S ugo;l WVlgw 3,dS sasliwe

http://92.242.195.235/KeyArshad/NOET/Questionskey.aspx
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Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo Jlguw Quo

1 2 31 2 61 1 91 1 121 2 151 3

2 4 32 3 62 3 92 2 122 3 152 3

3 1 33 2 63 3 93 4 123 2 153 2

4 3 34 2 64 4 94 3 124 4 154 4

5 3 35 1 65 3 95 2 125 1 155 2

6 1 36 2 66 2 96 4 126 3 156 3

7 4 37 4 67 2 97 3 127 1 157 1

8 2 38 4 68 4 98 3 128 4 158 3

9 4 39 4 69 1 99 3 129 2 159 2
10 3 40 4 70 2 100 1 130 4 160 2
11 1 41 4 71 3 101 2 131 2 161 1
12 1 42 1 72 1 102 1 132 3 162 3
13 4 43 2 73 4 103 1 133 1 163 4
14 2 44 4 74 1 104 4 134 3 164 1
15 3 45 1 75 4 105 2 135 1 165 2
16 3 46 4 76 1 106 4 136 4 166 4
17 1 47 3 77 2 107 3 137 2 167 2
18 3 48 3 78 4 108 2 138 3 168 4
19 2 49 1 79 2 109 3 139 1 169 1
20 4 50 2 80 3 110 4 140 2 170 4
21 1 51 1 81 1 111 3 141 4 171 2
22 4 52 1 82 3 112 1 142 3 172 1
23 3 53 3 83 2 113 3 143 1 173 4
24 4 54 4 84 3 114 4 144 2 174 3
25 3 55 4 85 1 115 2 145 3 175 1
26 2 56 3 86 4 116 1 146 4 176 3
27 3 57 2 87 1 117 4 147 2 177 4
28 1 58 3 88 3 118 1 148 1 178 2
29 4 59 3 89 1 119 3 149 4 179 3
30 2 60 3 90 2 120 2 150 2 180 3
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